
 

Chapter 8 gas Laws
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Derivation
DV MRT solve for R
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Ey
A weather balloon is filled to a volume

of 250 L at 1.00 atm and 252 The

balloon is released and reaches an altitude

of 1.5 miles where the pressure is now

0 852 atm and the temperature is 16 C

What is the new volume of the balloon
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life 1 atm

33ft latm
Lungs hold 4L of air

If he holds his breath
as he rises how much
would the air in his

lungs expand

IFy 1500ft underwater
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PartialPressuredaltons
Law of partial pressure

Protal tPe tRs t Pn

Sum of all partialpressures

Exampled
if 2.6 atm of Nz are added to a container

with 1.62 atm of air what is the final

pressure
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Exampley
what is the pressure in a container with

a volume of lo o u filled with 1.62gal
and 30.7g Hz if the temperature

is 25 C
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Exampled
what is the pressure in a container with

a volume of lo o u filled with 1.62gal
and 30.7GHz if the temperature

is 25 C

Tia
p I 1

NetHz
y 10.0 L
n 30.7gHz 1.62gNz 4 1 9

T 25 C 1273.15 298.15

12 0.0821 heating

3 1moleNa3 ImoleH2 1.62GHz 28702GtMy 30.7GHz gHz a 2

15.22817mole ite t 0.057816moleHe

15 28598584molesgas HztND
U

Tf Cszq59 omdyYoo8
E I t 37 itf721I9atm

37.4atm f1



1

1 atm you breath in 4 L air

air is composed of 18 Oz t 82 Nz

How many moles of Oz in each breath
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At base camp atm 400mmHg How many
moles of oxygen in each breath
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Summery
DV n RT Ideal Gras Law
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Tf itnz RT Sum of moles plugged into
Pv n RT

moles

units
D atm atm 14.7 lbsline 760mmHg 7601cm

I torn 60
atm I torr n lmmHg



Skip Chapter 9 11 12

Do Chapter 10 13 equilibrium 14 acid base

Chapter Phase Transitions

Solid liquid How muchenergy is required
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linear protein
Globular insoluble

soluble Connetive tissue
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